
SOUL

MSws
SJAWIZ^D-J^ry^

jis^i.:s-3-3-g^ ^^(Dmw^7^^i±m^\ m?m[^®w§^
u >^ws®ffl^lc,gj,&] .^m [n^WS®S°tilc:@j,&] ^ffii^ysinys-^
^-^(Dj-v^^^o ^m w^t)W£\w:) ^ o ^^-o

wn

^ TK'T^ I^^^^^^^IC^IJ^^^ (FC-300)
jr^^^m^ ^pjwjiw^^wjji^-tf
^T5^z\ ^mCTiijt^^-^^u
-ct^uTi^-To im'^m^n. U^UA
y wm^^m(Dm^mm^wuw
TC^O

^W Jis
u^

4 (sc ioo)

5 (SC 130)

6 (SC 165)

7 (SC 190)

9 (SC 230)

10 (SC 270)

12 (SC 300)

Di

111
130
165
192
233
273
310

B

60
61
68
77
85
87
92

D4

95
115
147
172
210
250
285

D2

30^.019

ioo+g-022

130+g-025

155+g-029

190+g-029

230 +§-029

260+§-032

H

19
24
27
28
37
40
45

Bi

15
17
19
21
24
28
31

Li

43
54
65
75
87
100
110

Ds

24
32
43
54
70
85
90

L2

4
4
5
5
6
6
6

b

8
8
10
11
12
12
14

d

M 8x1.25

M8X1.25

M10x1.5

M10x1.5

M12X1.75

M12x175
M12x1.75

c

22.6

21.6

25.5

26.9

30.5

31.5

33.5

E

20
20
20
20
25
25
30

ffl
^Q)

2—23

2.5-31

2.5—42

3-53

3-69

4-84

5-89

ii^lG
^®

37—88

50-102

62-131

69-152

78-187

85-220

90-246

H
^®

30—88

40-90

44-117

55-136

62-170

70-199

78-232

min"1

2800
2700
2400
2200
2000
1700
1500

kg

3.4

4.6

8.2

12.7

20.0

27.2

37.2

^(DFWW?lBH (DWIW?i$BH (D^m^^fflSitGB

3 JAW mm
^G-S^W^

W?^
mw)\^ h

HW/L^t)

4
M8

S30C

5

M8
S30C

6
M10
S30C

7

M10
S30C

9
M12
^22'

10

M12
^22C

12

M12
S30°

B@?u^'3^T'^mE^€<^Tu^o m^
imW. M^[i]l5^c^:B?6^Z?TCUo

©


